RFP364 GROUP A

TABLE 7 DEE DOODGAL COHEDINE				
TABLE 5 – FEE PROPOSAL SCHEDULE				
School 5				
Part 5.01 Basic Services	Construction Management Services Fee: percentage of project cost: 4 %	\$180,000		
Part 5.02 Additional Servi Part 5.03 Estimated Reim	\$13,500.00			
Consultants Proposed Markup = $\underline{0}\%$		\$3,600		
Total School 5 Project Fee (A):		\$197,100		
	School 8			
Part 5.01 Basic Services	Construction Management Services Fee: percentage of project cost: 4 %	\$62,400		
	Part 5.02 Additional Services HOLD			
Part 5.03 Estimated Reimbursables: Consultants Proposed Markup = <u>0</u> %		\$1,248		
Total School 8 Project F		\$68,648		
	School 9			
Part 5.01 Basic Services	Construction Management Services Fee: percentage of project cost: 4 %	\$90,000		
Part 5.02 Additional Services		\$7,000.00		
Part 5.03 Estimated Reimbursables: Consultants Proposed Markup = $\underline{0}$ %		\$1,800		
Total School 9 Project Fee (C):		\$98,800		
School 25				
Part 5.01 Basic Services	Construction Management Services Fee: percentage of project cost: 4 %	\$180,000		
Part 5.02 Additional Services		\$12,500.00		
Part 5.03 Estimated Reimbursables: Consultants Proposed Markup = $\underline{0}$ %		\$3,600		
Total School 25 Project Fee (D):		\$196,100		

AWARD
JAN'18
RES 16.12

	Yonkers Middle High School	
Part 5.01 Basic Services	Construction Management	
	Services Fee: percentage of	\$60,000
	project cost: 4 %	
Part 5.02 Additional Serv	ices	\$5,000.00
Part 5.03 Estimated Reim	bursables:	
Consultants Proposed Ma	rkup = <u>0</u> %	\$1,200
		0.000
Total School Yonkers M	Middle High School Fee (E):	\$66,200
D . 5 01 D G	Saunders High School	
Part 5.01 Basic Services	Construction Management	670.000
	Services Fee: percentage of project cost: 4 %	\$70,000
	project cost. 4 70	
Part 5.02 Additional Serv		\$5,000.00
Part 5.03 Estimated Reim		
Consultants Proposed Markup = $\underline{0}$ %		\$1,400
Total School Saunders	High School Project Fee (F):	\$76,400
	Boyce Thompson	
Part 5.01 Basic Services	Construction Management Services Fee: percentage of	\$60,000
	project cost: 4 %	\$00,000
Part 5.02 Additional Services		\$4,500.00
Part 5.03 Estimated Reimbursables:		Ø1 200
Consultants Proposed Man	rkup = <u>0</u> %	\$1,200
		1
Total School Boyce Tho	mpson Project Fee (G):	\$65,700

AWARD APRIL 18

AWARD APRIL '18

TOTAL SUM OF THIS PROPOSAL seven hundred sixty eight thousand nine hundred forty eight dollars.

Savin Engineers, PC Architect or Engineer (printed name of proposer)

RFP364 "GROUP TS"

TABLE 5 – FEE PROPOSAL SCHEDULE]	
School 24				
Part 5.01 Basic Services	Construction Management Services Fee: percentage of project cost: 4 %	\$160,000	AW JA	
Part 5.02 Additional Serv	ices	\$12,500.00	RE	
Part 5.03 Estimated Reim	bursables:		1 ' '	
Consultants Proposed Markup = $\underline{0}$ %		\$3,200		
		\$175,700		
Total School 24 Project	School 30	\$175,700		
Part 5.01 Basic Services	Construction Management		Δ,.	
L A	Services Fee: percentage of	\$100,000	Ma	
46H	project cost: 4 %	240,000	Au	
1011		7,	At	
Part 5.02 Additional Services		\$7,500.00	2	
Part 5.03 Estimated Reim		Ψ1,500.00		
Consultants Proposed Man		\$2,000		
Total School 30 Project Fee (B):		\$109,500 249,	500	
	Enrico Fermi			
Part 5.01 Basic Services	Construction Management Services Fee: percentage of project cost: 4 %	\$12,000	AW IT	
Part 5.02 Additional Services		\$3,500.00	RE	
Part 5.03 Estimated Reimbursables:			1	
Consultants Proposed Markup = $\underline{0}$ %		\$240		
· · · ·				
Total School Enrico Fermi Project Fee (C):		\$15,740		
D 501D : 2	Roosevelt High School			
Part 5.01 Basic Services	Construction Management Services Fee: percentage of project cost: 4 %	\$240,000	KWA JAI RE	
Part 5.02 Additional Services		\$18,000.00	RE	
Part 5.03 Estimated Reimbursables:			1	
Consultants Proposed Markup = $\underline{0}$ %		\$4,800		
Total School Roosevelt High School Project Fee (D):		\$262,800		

AWARD JAN'18 PES 16.12

AWARP, 18 APRIL 18 RES ?

AWARD JAO'18 RES 16.12

AWARD JAN '18 RES 16.12

DeHostos			
Part 5.01 Basic Services	Construction Management Services Fee: percentage of project cost: 4 %	\$200,000	
Part 5.02 Additional Services		\$15,000.00	
Part 5.03 Estimated Reimbursables:			
Consultants Proposed Markup = $\underline{0}$ %		\$4,000	
Total School DeHostos Project Fee (E):		\$219,000	
TOTAL FEE PROPOSAL: A+B+C+D+E		\$782,740	



TOTAL SUM OF THIS PROPOSAL seven hundred eighty two thousand seven hundred forty

Savin Engineers, PC

Architect or Engineer

(printed name of proposer)

5.04 HOURLY PAYMENT RATES FOR VARIOUS TITLES

The Consultant will be compensated for time and material work beyond the original scope of work at the rates proposed by the Consultant for each of the titles listed below:

TITLE	RATE	MULTIPLIER	BILLABLE RATE
Principal	\$86	2.1	\$ <u>181</u> .00 per hour
Project Executive	\$69	2.5	\$ <u>172</u> .00 per hour
Construction Manager	\$53	2.3	\$ <u>122</u> .00 per hour
Scheduler	\$55	2.4	\$ <u>131</u> .00 per hour
Estimator	\$55	2.4	\$ <u>131</u> .00 per hour
Project Accountant	\$32	2.5	\$ 81.00 per hour
Senior Construction Inspector	\$60	2.3	\$ <u>138</u> .00 per hour
Construction Inspector	\$57	2.3	\$ <u>131</u> .00 per hour
Architect (RA)	\$59	2.8	\$ <u>164.</u> 00 per hour
Engineer (PE)	\$60	2.8	\$ <u>168</u> .00 per hour
Architect	\$45	2.8	\$ <u>126</u> .00 per hour
Engineer	\$46	2.8	\$ <u>129</u> .00 per hour